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BOOKS - TELUGU ACADEMY MATHS (TELUGU ENGLISH)

INVERSE TRIGONOMETRIC FUNCTIONS

Spq

1. Prvoe that .

Watch Video Solution

sin− 1 + cos − 1 = cos − 13

5

12

13

33

65

2. P.T 

Watch Video Solution

tan− 1 + tan− 1 − tan− 1 = 0
1

7

1

13

2

9

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lnLAQYmm1tKF
https://dl.doubtnut.com/l/_PWvg8qcN4FhW
https://dl.doubtnut.com/l/_vLLqTQJyopfg


Saq 1 D Star Q

3. If  then prove that 

.

Watch Video Solution

tan− 1 x + tan− 1 y + tan− 1 z = π

x + y + z = xyz

4. If , then prove that 

.

Watch Video Solution

sin− 1 x + sin− 1 y + sin− 1 z = π

x4 + y4 + z4 + 4x2y2z2 = 2(x2y2 + y2z2 + z2x2)

1. Prove that .

Watch Video Solution

sin− 1( ) + =
4

5

sin− 1 7

25

sin− 1 117

125

https://dl.doubtnut.com/l/_vLLqTQJyopfg
https://dl.doubtnut.com/l/_3Rbq9MvQpRDh
https://dl.doubtnut.com/l/_OxRQD13ykxb5


2. Prove that 

Watch Video Solution

sin− 1 + sin− 1 = cos − 13

5

8

17

36

85

3. P.T. .

Watch Video Solution

cos − 1( ) + sin− 1( ) = tan− 1( )
4
5

3

√34

27
11

4. Find the value of 

Watch Video Solution

sin( + )
cos − 1 3

5

cos − 1 12

13

5. Find 

Watch Video Solution

cos( + )
sin− 1 3

5

sin− 1 5

13

https://dl.doubtnut.com/l/_DcSi7pMHDSNu
https://dl.doubtnut.com/l/_DHDpGozQafrA
https://dl.doubtnut.com/l/_QFhI0n9IfiLw
https://dl.doubtnut.com/l/_XPM8SJnvOnnz
https://dl.doubtnut.com/l/_ddoHf4icH5ke


6. Find the value of .

Watch Video Solution

tan( + )
sin− 1 3

5

cos − 1 5

√34

7. Find the value of 

Watch Video Solution

tan( + )
cos − 1 4

5

tan− 1 2

3

8. Show that .

Watch Video Solution

cot(sin− 1√ ) = sin(tan− 1 )
13

17

2

3

9. Show that 

Watch Video Solution

cos(2 tan− 1. ) = sin(2 tan− 1. )
1

7

3

4

https://dl.doubtnut.com/l/_ddoHf4icH5ke
https://dl.doubtnut.com/l/_QlF9Z1uKVSME
https://dl.doubtnut.com/l/_xmkCOKNoIAhe
https://dl.doubtnut.com/l/_uD4fjaoPMW2x
https://dl.doubtnut.com/l/_zZiSFN23BwrO


10. Prove that 

Watch Video Solution

cos(2 ) = sin(4 )
tan− 1 1

7

tan− 1 1

3

11. Prove that 

Watch Video Solution

tan− 1( ) + tan− 1( ) + tan− 1( ) =
1

2

1

5

1

8

π

4

12. Show that .

Watch Video Solution

+ − =
tan− 1 3

4

tan− 1 3

5

tan− 1 8

19

π

4

13. Show that 

Watch Video Solution

+ = + cot − 1 18
tan− 1 1

7

tan− 1 1

8

cot − 1 201

43

https://dl.doubtnut.com/l/_zZiSFN23BwrO
https://dl.doubtnut.com/l/_EPnn41XNhdbK
https://dl.doubtnut.com/l/_f5xYBOD7IZEc
https://dl.doubtnut.com/l/_9BdLPsFPrqI5


14. Prove that .

Watch Video Solution

cot − 1 9 + cosec− 1 =
√41

4

π

4

15. Prove that 

Watch Video Solution

sin− 1 + sin− 1 + sin− 1( ) =
4

5

5

13

16

65

π

2

16. Prove that .

Watch Video Solution

sin− 1( ) + 2 tan− 1( ) =
4

5

1

3

π

2

17. Prove that .

Watch Video Solution

sin[ + cos − 1( )] = 1
cot − 1(2x)

1 − x2

1 − x2

1 + x2

https://dl.doubtnut.com/l/_k4zk1RHjCChu
https://dl.doubtnut.com/l/_wytnSvmyykSP
https://dl.doubtnut.com/l/_H2GMZKSO7muh
https://dl.doubtnut.com/l/_6DAiOvH0abBD
https://dl.doubtnut.com/l/_hvEQJzmKwg5y


18. Show that 

Watch Video Solution

tan[2 tan− 1( )] = 2
√5 − 1

2

19. If  then find x.

Watch Video Solution

sin− 1 x − cos − 1 x =
π

6

20. If , then prove that 

Watch Video Solution

tan− 1 x + tan− 1 y + tan− 1 z =
π

2

xy + yz + zx = 1

21. If , prove that 

.

Watch Video Solution

sin− 1(x) + sin− 1(y) + sin− 1(z) = π

x√1 − x2 + y√1 − y2 + z√1 − z2 = 2xyz

https://dl.doubtnut.com/l/_hvEQJzmKwg5y
https://dl.doubtnut.com/l/_cXy2uGTGY3jH
https://dl.doubtnut.com/l/_Ua8xtfNtLDEV
https://dl.doubtnut.com/l/_WGkjTYI9I3Jc


Saq 2 D Hard Q 3 D Mis Q

22. If  then, 

Watch Video Solution

cos − 1 p + cos − 1 q + cos − 1 r = π

P . T . p2 + q2 + r2 = 2pqr = 1

1. Prove that 

Watch Video Solution

cos[tan− 1{sin(cot − 1 x)}] = √
x2 + 1

x2 + 2

2. If , then prove that 

Watch Video Solution

− cos − 1( ) =
sin− 1(2p)

1 + p2

1 − q2

1 + q2

tan− 1(2x)

1 − x2

x =
p − q

1 + pq

https://dl.doubtnut.com/l/_WGkjTYI9I3Jc
https://dl.doubtnut.com/l/_vls0N9OI1t4k
https://dl.doubtnut.com/l/_TeruW9BcaC2f
https://dl.doubtnut.com/l/_i4IKB3t0vIVE


3. Id  are distinct non-zero real numbers having the same sign.

Prove that 

.

Watch Video Solution

a, b, c

cot − 1( ) + cot − 1( ) + cot − 1( ) = π( or )2π
ab + 1

a − b

bc + 1

b − c

ca + 1

c − a

4. Solve : 

Watch Video Solution

sin− 1( ) + sin− 1( ) =
5

x

12

x

π

2

5. Solve .

Watch Video Solution

sin− 1 x + sin− 1 2x =
π

3

https://dl.doubtnut.com/l/_i4IKB3t0vIVE
https://dl.doubtnut.com/l/_sGSgH6Fej1Gk
https://dl.doubtnut.com/l/_vWpVLfOOiuyZ
https://dl.doubtnut.com/l/_Dnebpfu47x4g


6. Prove that

.

Watch Video Solution

tan{ + cos − 1( )} + tan{( − )} =
π

4

1

2
a

b

π

4

1

2

cos − 1 a

b

2b

a

7. Solve

Watch Video Solution

3 sin− 1( ) − 4 cos − 1( ) + 2 tan− 1( ) =
2x

1 + x2

1 − x2

1 + x2

2x

1 − x2

π

3

8. Show that 

Watch Video Solution

sec2(tan− 1 2) + cosec2(cot − 1 2) = 10

9. Prove that .

Watch Video Solution

2 sin− 1( ) − cos − 1 = cos − 1( )
3

5

5

13

323

325

https://dl.doubtnut.com/l/_vNPIXTdt2uB8
https://dl.doubtnut.com/l/_tKFAHdORrq1l
https://dl.doubtnut.com/l/_93Ed3aGmNYeR
https://dl.doubtnut.com/l/_hxx4FoTREz9E


Watch Video Solution

10. If  then prove that 

.

Watch Video Solution

α = tan− 1( )
√1 + x2 − √1 − x2

√1 + x2 + √1 − x2

x2 = sin 2α

11. Solve 

Watch Video Solution

sin1 + sin− 1 = sin− 1 x
3x

5
4x

5

https://dl.doubtnut.com/l/_hxx4FoTREz9E
https://dl.doubtnut.com/l/_kqZUVWvnxYCB
https://dl.doubtnut.com/l/_Dqz6NH5cqAF3

